E%;SWDS Series

2020 = A

(English & Telugu Versions)

Time : 150 Minutes | \ Max. Marks : 150
a0 : 150 2oiaoes Booo B0 : 150

INSTRUCTIONS (wgsen)

t Booklet and ensure that it contains all the 150 questions,
2Ct in the

Test Booklet or OMR Answer Sheet, please get it
replaced immediately,

Botindiss 8 wrsoEssogs. ) SB80E" ™R, OMR a7
3pand’ D o SissayS oo 08" ST Dot BisoFis58i0,
. The test booklet consistg of 1560 questions. P

Part B containg 100 questions. Each question carries 1 mark.

e 9 JGS0E 150 Sigyenind, T8 A Soth 50 oo 5005 &8 B 50 100
L8, BHL0 1 5575, Seromosedsa.

art A contains 50 questiong and

B0 o).

. The Question Paper is set in English and translated into Telugu language. The
English version will be considered as the authentic version for val

uation purpose.
B 9505 30A%0E BaEBOHRE Bewld Gt BRI DabadHe. oS DB 2803
S 000 (5%) S8 @PSTe3EoT SRS Becsss,.

The Test Booklet is printed in four (4) Series, viz. [A] D]
@ or or [C| or [D] is printed on the right-hand corner of th

e cover page
of the Pegt, Booklet. Mark your Test Booklet Serjeg or or

) or 0] in
tConside 1 of the OMR Answer Sheet by darkening the appropriate circle with
B1UE/Black Ball point pen.

&% IR TR0 3¢S0 (Series) A @ IRV S0QOVAEE). 54
008 1] oy B] mo [C] ™ [D] ™ &% 55 o w565 4,8 HA Y Borest
oy 3055 i ses % 550 Series) [A] ma [F

t ™A C] ™D my
OMR « @ NNOOK

aﬁMR “_355"@26 50 o505 ?_@ 3"§ C 50068 @o&H8%553 gqvqsooéa:&?é aﬁq)é_‘géoo?éa v / a‘;:g oS
Ty 1T o) DOSHTR> |

- The Series,

oh P.T.0.
M




I-'.§‘§ 4
PART - A
1. If'X means =, ¥ means <, ‘A’ means
‘+’, and ‘B’ means X’, then which of
thefollowing will be the value of the
exptession 14 B10 A42Y 2X 82

(1) 153
(2) 216

3) 248
(4) 251

Rajeev met a‘pérson in a mall who
happens to be his relative. That man
is husband of sister of his mother. How
is the man related to the Rajeev ?

(1) Btother
2) Néphew
3) U'nclle‘

(4) Father

3. As one makes one’s bed, so one must
lie.

This idiom means :
(1) Life is not a carefree living

(2) One must hold information in strict
confidence

(3) One must accept the consequences
of his actions

(4) One must be open abo

: ‘ ut one’s
intentions

o™

o
Lo e 2 asm ¥ o <, A esm A
=00%0 B’ ey X o 9506°
14B 10 A 42 Y 2 X 8 Dewis ot ?

-A

eoM

(1) 153

(2) 216
@) 248

(4) 251

2. oif od S 1S ey 530 KOs, ety
CESD LoD, it odS OO Bows ar,
©oxB & 58 oS D ez 9

(1) ot

" (2) Doy

(D [OT%

(4) Bo&

3. As one makes one’s bed, gq one must
lie.

This idiom means :
(1) Life is not a carefree living

(2) One must hold Inform

ation in strict
confidence

(8) [One must accept, the
of his actiong

Consequences

(4) One must be ¢

. Pen ahoy :
intentions bionejs

(A)
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4. Match the following proverbsg -
List—- I ‘

nust

strict

iences

one's

(A)

A. All that glitters 1.

is not gold

B. Charity begins

at home

C. Example is better 3.
than precept

D. Prevention is
better than cure

(1]

List - 11

pOing things
1s better than
preaching

- It is always

better to take
precaution

A person’s
first duty is
to help the
members of
his family

. Something

may not be
as good or
valuable as it

appears

It is safer
and more
advantageous
for a man ¥
be honest than
dishonest

(1) A—5,B—1,C-—3,D-—4

@ A-3,B-1,C-2D-5

(3) A-4,B_3,C—1,D—2

(4) A—1,B_3'C_2,D—5

List- I

A. All that glitters 1.
is not gold

B. Charity begins 2.
at home

C. Example is better 3.
than precept

D. Prevention is 4.
better than cure

WSWDS

4. Match the following proverbs :

List - II

Doing things
is better than
preaching

1t 1s always
better to take
precaution

A person’s
first duty 1s
to help the
members of
}L}is family

Something
may not be
as good or
valuable as it
appears

. It is safer

and more
advantageous
for a man to
be honest than
dishonest

(1) A-5,B-1,C-3D-4
@ A-8B-1,C-2D-5
(3|A-4,B-8,C-1,D-2

4) A-1B-3C-2D-5

(A)
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5. The question given below has a sentence
. with a part of the sentence underlined.
Four alternatives for the underlined
part are given. One of them is correct.
Identify the correct one.

Sentence : I do not know whether
tomorrow is holiday for the college.

(1) Whether tomorrow is holiday for
college

(2) Whether tomorrow will be a holiday
for the college

(3) Whether tomorrow will be a holiday
to the college

(4) Whether tomorrow will be holiday
of the college

6. Rustom-2 which was developed by
DRDO 1s an
(1) Advanced air defence system
(2) Medium altitude long endurance
drone
(3) Anti-tank guided missile
(4) Multi-barrel rocket launcher

7. Which of the following statements
is incorrect regarding the Space
Activities Bill ?

(1) The objective of the Space Billis to
facilitate the overall growth of the
space activities in India.

(2) The Bill provides for establishment
of a regulatory body for the purpose
of licensing of space activities.

(3) The Bill provides for the creation of
a military wing of the armed forceg
in outer space.

(4) The Bill has provisions for the
protection of Intellectual Property

Rights created through
activity. 5% SPags

WSWDS

5. The question given below has a sentence
with a part of the sentence underlined.
Four alternatives for the underlined
part are given. One of them is correct.
Identify the correct one.

Sentence : I do not know whether
tomorrow is holiday for the college.

(1) Whether tomorrow is holiday for
college

(2) [Whether tomorrow will be a holiday
for the college

(3) Whether tomorrow will be a holiday
to the college

(4) Whether tomorrow will be holiday
of the college

6. DRDO e300 “todtso - 27 608
NH020H0NSE 2

(1) eomredd oo SEEd 0

(2)] 288" axredonie Sogsy $EI (B

(3) awogg ergolo DessoRs §oes

(4) o5 eBoqEard Ko 078el oroid

7. &% 2565&3/ S"dgs’er’i"e: Do 020809
2057 @07 oW,

(1) 8 3o SEEoT o8 @errobto
B Soops &8¥0

(2) &R BERH esoNotons &8 B0
2.5 DoWo(BEs HOPH> JTmen Datbeso

(3) b RS’ Jratings wemed Soeofod
2.8 08¢0 %/ 2erly Aoye BDaeso

(4) [8°5% 38508 Sowohod o0& HoBg
e, ¥

A4)
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8. Which of the follow

2

i INg cannpy pe
used for forensic studies thyoy gh DNA

fingerprinting ?
(1) Blood stains
%) Burnt bones
(8) Hair with root
(4) Semen

9. The information about Harappan
civilization comes from the reports of
the excavations at various places. Which
was the first site to be excavated ?

(1) Mohenjodaro
(2) Harappa

(3) Lothal

(4) Kalibangan

. Which Gods became important in the
later Vedic Age ?

A. Vishnu
B. Rudra

C. Agni

D. Prajapati

Select the answer from the codes given
below,

(1) A,Band C

2) A,Band D

@) B, Cand D

4) A,B,Cand D

WSWDS

8. TRy WioKdo DNA o6 Goodoﬁés

543 808 eI &3DTNoBE AL T ¢ 5.

(1) 859 Soseo

(2)| 520 dsoogen

(3) DuBens ErES doEwsen

9. U5S TNOSHLD Kowodod BSOS’ G

romred’ TDBEeo ST00. DéIDSeITO
B550S" 2a0eNGS @roso.

(1) doroSTs

@) 6

(3) s
(4) =*®onS

10. 5083 sreos® D Assen BRQITOTH ?

A Dy
B. &
C. ony
D. e

KB BAPGRY OG0B0,

(1) A, B 308ax» C

(2)| A, B 5080 D

(3) B, C008axw D

(4) A, B, C08a0 D

(A)
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11. Which one among the following is the

function of the Finance Commission ?
(1) Preparation of the Central Budget
(2) Assessing income tax proceeds
(3) Determining the principles
governing grants-in-aid the States

(4) Exercising control over Government
expenditure

12. The first Supreme Court Judge to

13.

become a Governor of State after
retirement was

(1) V.R. Krishna Iyer
(2) K. Subba Rao

(3) Syed Fazal Ali

(4) P. Sadhasivan

Which of the following would be the

correct explanation of the word Judicial
Overreach ?

(1) The power of the judiciary to review
the laws made by the legislature

(2) The phenomena where in the
judiciary directs the executive
to undertake such policieg as
the judiciary may deem fit citing
insufficient policies

©)

When the judiciary in exercise of
its judicial activism encroacheg
the domain of the executiy

e and
legislature

(4) The power of the judic
strike down the ruleg
administration

lary tq
made by

11.

12,

WSWDS
SR D000 08, DGR BB
(1) o 2@l Baxrd

(2) esorax> B30y e90WT 0

(3¥|Bos orgre Bosy B0 Ao BoDe3S’

QDT K)goi)o

(4) ©ebisgo PpSHyw DoXoEse

Ro@08%) H308 BED EBore BEH S}
BT DONRVEES Bastsed TaLBTE

(1) D. esb. g5 00556
(2) 3. oS

(3)] BoXsb e e9d

D . 30858

TR0 @8 (Judicial Overreach) &3

207°08 Jowodod) ABD DGy EOAS T3
K580%0s.

(1) Beyoss wgam $Nog Baheso

(2) Sdg ATFT Y T VIS T8
JeoNE D el Do), Botseo

(3)

TGO, T DY DS svésbc';:ivg

08X TN T SOASE'E TEseero

() SodoT DowEres T Mg LoE'
Fefdadio

(A)


user
Rectangle

user
Rectangle

user
Rectangle


=

E

@

14.

15.

Which of the following Comm:
recommended Constitutiong] Sinlttte(zs
the Panchayat Raj Institutions?) ne
(1) Balwant Rai Mehta COmmit-tee
(2) Santanam Committee

(3) L. M. Singhvi Committee

(4) G. V. K. Rao Committee

Following the three language formula
which of the following States introduced

‘Telugu as the third language ?

16.

17.

(1) Karnataka
(2) Kerala

(3) Haryana
(4) Orissa

During the period of the south-west

monsoon, Tamil Nadu remains dry

because

(1) The winds do not reach this area

(2) There are no mountains in this
area

(3) It lies in the rain-sh

(4) The temperature is
the winds cool down

adow area
too high to let

What is the correct sequence orf; ;}(1;
location of the following Ssa po
India from South to North * _
am,
(1) Cochin, Thiruvananthapur
Calicut, Mangalore
(2) Calicut, Thiruvanant
Cochin, Mangalor®
(3) Thiruvananthapuram’
Calicut, Mangalore
(4) Thiruvananthapuram.
Mangalore, Cochin

COChin’

Calicut,

WSWDS

14. DoTrond ooef SgHPso orergolt 2D

15.

16.

17.

SONCIMUNESSEWC I 063

(1) 20580705 DT &3
(2) dozrdo £0ed

(3)] 6. do. Do K3

@ 2. 9.3 0°5 52063

(DL DREEAS @D0REI0NT” DOORD 2T
BIS HE) B Togo BRI S0l erST
DF0eIN0 ?

1) 5(.3;@5

@) do%

(4) &;6@':)

BB B0BTHT® 5008 BT oo
e (Dry) eotod. &3 s7e0.

(1) s5re0 B (o DED

(2) &3 @Frosos® Sosen 89

3] 5+ 308 305 (Rain Shadow)

Dros50S° &océero
(4) B SIS SO DIT 0 HE)

£5862 5008 BB BT B $08 £453HOR> TGP

2006 ot SR HGoBos.

(1) S, Sossosnso. 5O,
53"50{'{‘115"5

(2) s7DseS, BLBIoBHT, £,

(3)| Sess0B800, S, SO,

55“50/(‘&15"5
(4) ABSH0BHEO, 50505, ;’;J"Bol{v;ﬁ‘&
§" DJ:S
(A)
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20. The objective of‘ ‘Atal Jyoti Yojana’

2 AN 10
i

18. Which of the following viver does not
originate in the Indian territory ?

(1) Chambal
(2) Jhelum
(3) Ravi

(4) Ghaghara

19. Which among the following pairs of

project and corresponding district is
matched incorrectly ?

(1) Sanjeevayya

—  Kurnool
Sagar district
(2) Pedaballi — Ananthapur
Reservoir district
(3) Ramateerdham — Prakasam
Project district
(4) Sadasivakona — Nellore
Project district

(AJAY) is
(1) To provide electricity to all

(2) To provide ‘Solar Street Lighting
Systems’ for public use

(3) To encourage citizens to save
electricity

(4) To encourage smart electrie
appliances

18.

19.

20.

WSWDS

E0B8 3800 D 88 arss o erKods
GBS 9

1) voard
(2) Bos5s

3) o2

(4)[ v ki A a1k

B4 $ods g3ES =0, '@ & B

020800 BIYIT 23BBOIS T3 1080%0C.

(1) Boedsany 36 — S Bere

(2) 2e5e0d) Besogoms — VVOBYHEO ey

(3) SRS 8§ — B0 S

(4) |Roeass™s (SRS — b Bee

“e9gaeS ésseié Aess” (AJAY),Q?mgzr e?é%o

(V) es0c508 B9 eoBonco

2)

B2 ST TS ras Do aébo

DT

(3) Desogng Sresory Botsossss ety

@‘é‘abow@

(4) 55,3 DES &I SeTess

@A)

@Sé‘bboééoo
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nr i . . 2 —2' b 4 .
pirections (Q. No. 21-23) . Following Jine | smwses (21-23) : & o 35 [rHS° P 508010

graph shows the Percentage profit gained =35
by two companies P and Q over the yegps | @ SOV° TH Ty 1994 S000 1999 giscio

rf B Company P [ Company Q B Company P O Company Q

80 = — 80 =

60 E ]
) = 60

40 L] ) ' s0 HH

o » i

) il 0

- 199419951996 1997 1998 1999 19941995 1996 1997 1998 1999

21. If the income of Company Q in year @ 1995 o1® Q Sowd estravo T 91.8 5%
1995 is ¥ 91.8 Crores, what is its 290003, €3 Holl PEO) JoB ?

expenditure in that year ? D)7 64 e T . /i
(1) ¥ 64 Crores . )% 68 Se o:sg;; }’f
(2) X 68 Crores =

(3) 70 §%x

(8) ¥ 70 Crores

(4) T 72 Crores (4) T 72 Sex S

\

22. If the expenditures of Company P inthe | 22. 1997 $o8ax%» 1998 o ced® P
year 1997 and 1998 are in the ratio 6 5, Ko @), 2SN IR 6 : 5, eowd
what is the ratio of its incomes 1 the & 5058,T05 STab DD

same years ? (1) 7 :8
g
(3) 11:9 | @) 11:9
(4) 13:10 ) 1of10
8. 1 oxpendivre of Come 81| % ST S e
its income in the year 1996 ? (1)] T 64 e
(1) ¥ 64 Crores (2) T 52 8%
(2) ¥ 52 Crores (3) 70 S'ex
(3) ¥ 70 Crores (4) 66650

; | .
(4) ¥ 66.6 Crores | - (A)
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24. Among the five

25.

" number is

people P,Q,R,SandT,
each having different age. R is younger

than only S. P ig older than T. T is
not the youngest. Who amongst the
following are older than T but younger
than S 2

(R

2 P

3) Q

(4) Both R and P

and their H.C.F. is 160 If one' of
the' numbers ig 480, then the second

(1) 16
2) 16000
3) 160
(4) 1600

26. ThefoundationformodemVisakhapatnam

were laid during 1900-1910. Which of
the following is considered to be the

event that marked the laying of the
foundation ?

(1) Building of Visakhapatnam Port

(2) Construction of Visakhapatnam
Steel Plant

3) Establishment of Scindia Stee]

Navigation Company & Caltex
Refinery

(4) Laying of the railway line between
Calcutta ang M

adras passing
through the city

12

24.

Pa ReT
WSWDS

P, Q R, S 5000 T e 2t01eH S,
D) Sabgnow. R edered 5@ S g
Degpress. P esdire T 8063 5. T et
B8 DG TH 5. wosd B+ ($od TOS T

508 2, S 5063 DRt MK ?
(1) R

P-T-4

25. Boco Sogg L.C.M. 4800 286 =0 H.C.F.

26.

160 o 2.5635 og5 480 Botss oz D8 9
1) 16

(2) 16000

(3).160

(4)[ 1600

SR IT 0 VoD 1900.1910 83655
FORRPIS 2:0R0B. 2 Gors S Souenss’

O [5082S QTETRS DTG D% o0
S0Medoterciorsos,

(1) dseno G Qo0

(2) 270 HS Joes Ao

(8) RoBaX" B TUAXS soub s0005m
5§, 88 T™Ne3

(4) | DT3¢ N0M00 OGS

BoBaxy Swsor
S0 Jela) SN @~Cosys

(A)
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27. Andhra Pradesh has signed a Sister-

27. JcLDE HoBOXD e30E [OVOTTOR S 0B0o

St:ate agreement for strengthening
Scientific and Economic relations in
the year 2018 with

(1) Canton of Bern
(2) Canton of Uri

(38) Canton of Zurich
(4) Canton of Geneva

28. Recently enacted the Surrogacy

(Regulation) Act, 2019 allows ethical
altruistic surrogacy to the intending
infertile Indian married couple between
the age of

(1) 21— 50 years and 26 — 55 years for
female and male, respectively

(2) 18 —45 years and 21 — 50 years for
female and male, respectively

(3) 23 —50 years and 26 — 55 years for
female and male, respectively

(4) 21 — 46 years and 21 — 50 years for
female and male, respectively

29. Which of the following pairs of Military

exercises and the country with which
India conducts them is not correctly
matched ?

(1) Hand in Hand — China

(2) Mitra Shakti — Sri Lanka

(3) Surya Kiran — Japan

(4) Maitree — Thailand

30. The function of Haerﬁoglobin is

(1) To transport oxygen
(2) Destruction of Bacteria
(3) Prevention of Anaemia
(4) Utilization of energy

28.

29.

30.

Boned8 2018 & eso@EHDe Rabso B2
0B D T8’ D T 2oy
E¢508)E008 ?

(2) aHrdS S OIS

(4) BOTE SIS

Slaly(eile (Surrogacy) doXoes o 20 19
H5°60 Derodr DoTrso KOl I
2208050, QN0 OO vomeo FoBeeAd
955550905296 500y DOV

(1) 21 — 50 Doi BoarTe, 26 — 55 don
5 EROD o

(9 18 — 45 Do Sodrde, 21 — 50 o
RO

(3)| 23 — 50 Kon BodrFed, 26 — 55 Dol
B0

(4) 21 — 46 Dol HoorFeHd, 21 — 50 Dol

DBV

r3SB%0 3B BFe8 Doakwgornr PIY
TR0 ASRR00. Be Ao DB
I ToS® S/PT BEDEBRES DT
180N,

(2) oss - Boos

(3) | Sre;80565 - &S
(4) S - groSerok

“TRIRDS” DB o3 ?

(Lylesdyess HEH0°

@) ergdoarr Tmddo
(3) B Davoes
(4) 33 dadrro

(A)
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33.

THhe tenw Ardhaky’

Y reflere o

iy earle mediey al

¥ ren free “illage in the possesaion

off Brahmanas

&) a altivatoar wiho tille the land of

Others and geta half the crop as hus
ashare

(5 Powmerdy) officiale who developed
landed iNfereata

(4) uller of the aonl

Bombay acquired by the English
orginally belonged to the

(1) Portuguese
@) Dutch
(3 Danes
() French

Arrange the followin
chronological order.

A Champaran Satyagraha
B. Launching of the Khilafar Movement
C. Reunion of the Congress

8 events in the

D. Nagpur Session of the Congress

Selent
below

(1) C,A BandD
2) CLA, Dand B
(3) A,C,Dand B
(4) A,D,Cand B

the answer from the codes given

32,

I »

WSwbh

.~

A3 3 " > SR o # - =

o ""i MAS Ty sj?! "S"";"" ‘.‘;‘2-‘ ‘33 7\)&50
R «

.-'u"’. SO Y

. T
e adedted

! f > 3 S 2 TN k]
() ¢ Teon &loan gl o

) . o By 7% L
(2) 380 o) o

e < y
o/ h vy m»&}"- -'-"/f.;fc -':0"/"
S
N8

() S0 @8N wndd ressss
EEREL AR e

() gD 03y SgddraLaces

wolaoey wrodsy BIEWoBETC. 32
AOTerm 3303 DodHd ?

(D ﬁ‘dscf\ﬁ

33.

(2) &5
(3) 8%,
(4) od

B2 200 T8 oty Seonst STl
. DoTES dorgny

A

B. 9038 & Sdogio

C. zda0 Tofd 238 Msse /soans
D

. 2rdad TodR TS Barddo

4 =%
Bod 3"%3’:5‘ :3?_:3 & tﬁgoéoé,

(1)|C, A, Bxdax» D

(2) C, A, D 200ax» B
(3) .L\’ C, D SodaXn B
D, C 308ax» B
4) A, A)
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i‘_w the following statement,

34

A Geutamuputra Satakarm was o nd
g0 his subjects and a father 1 g

people

B Gautamiputra s son and suce . g9
was Gautamiputra Yagna.op

Of the above, the corrmt statome gy

are

(1) Only A

@ Both A and R

3 Oniy B
) Both A and B are menerect

Anme Beasant estabiveled o Natwr ] ‘
C“ s wheh of the follow:: ‘
atewtowms * :
(1) Proddater
(2) Amantagur
(1) Madamapu !l
) Chattoor

Yuva Vigyaa: Karyakram (YUVIRUY
hae been launched by which of LR
hmum- ’ :

(1) Mimestry of Space

e ol Ty SOOI
A Tolpe ros) o SolSd Sy

TECol ot
e e = oy of |
B Telpe tircac. Telaglp gt
. ¢ A e ¥ e
‘4;7. lo‘s . ‘.
(1A srel
D A e dB 2ode
O R
i) Mot B 2ag 8

o

Yol o0, alilien & &8 L e a

e Jhed
-

)l ;q: fi-'i;!' YUVIKA)

e oalase :_;

4w

*
.

(H :..:,;.:

ot 1L ok gl ISRO)

D
@ 5% W eol Zoalloc! ool

(DRDOn
(£ § 3..:; M',
(DD

el ot an! ﬁ‘ﬁ‘&‘t\'

(A)
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37. Who of the following has been widely | 37.

recognised as the padman of India for

his efforts to create a low cost sanitary
pads ?

(1) Narayanan Krishnan
(2) M. P. Nachimuthu Mudaliyar

(3) Muruganantham Arunachalam

(4) S.R. Shankaran

38. Consider the following statements

A. Dr.Y.SR. Kantivelugu was launched

in 2019 on the occasion _of World
Sight Day. .

©d G PENE VL0 Jghy HAXreH> B
‘Il 58 @ godarm BRI 5g§
D 9

(1) soeones 5‘9535

(2) Do. B, TDINBY DSOS

(3) | S0080M80ESs eatheTseo

38.

(4) 5. &b, HoxS g

B (808 Trggosn $680oBod.

A iR . 3B, Koe3 Dewrs D S5y
2019 & wosdon Soe3 Dewrd B yso
LSO (FrSooTes:.

B. One of the objectives of the scheme B. @rodan 3 AN Kog Thodeso
is to establish a regional institute 5o 5560 N
of ophthalmology in the State. SESER eI e,

C.

The programme seeks to provide
appropriate interventior}s like

spectacles distribution, cataract
surgeries etc.

Of the above, the correct statements
are

C. o3 erro Sobes, seeaT§ Sgbev Ly

J0HS eﬁoécbﬁom éEhQD_

2 738" 53 S8y K8oB0d.

(1) AsrEd
(1) Aonly L
(2 A So8ax» C
(2) Aand C
(3) A,Band C (3)| A, B 3sdoxw C
(4) AandB b (4) A;&)GOKDB N “

A
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39. Consider the following statements -

40.

41.

A. The Government of India is
implementing the Integrated Child
Development Services (ICDS)
Scheme in Andhra Pradesh since
1975.

The ICDS Scheme is one of the
world’s largest and most unique
programmes for early childhood
development.

Of the above, the correct statements are

(1) A only

(2) Aand B

(3) Bonly

(4) Neither A nor B

For the first time in the country, a Black

Spot Monitoring and Management

App has been designed by the Andhra

Pradesh Government. This App 18

related to

(1) Monitor the hotspots of crimes
against women

(2) Monitor garbage vulnerable points
and other sanitation issues

(3) Monitor areas where pollution 18
high in urban local bodies

(4) Monitor where soils are prone
degradation

Ramesh bought a refrigerator for
¥ 15,240 and spentX 3,560 for its repall
and redesign and sold it with a 2§%
profit. What would be the selling price

of the refrigerator ?
(1) 25,200

" (2) T19,500

(3) T 24,5600
(4) ¥ 23,500

17
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39. B @0d Tgpgois HBEDoNOC.

40.

41.

A. erSd ©gbgo 1975 Hood s\ SAtres
23500 eree e o wessay (ICDS)
enoe0 DAD.

&3 3680 (ICDS) ©H05 od® ed g
$oB0%o 2.8 233 (U nique) 2roe @90
5 U5E00

0 BRI JOE Dood.

Iy A SeB

(2) | A S08ax» B

(3) B 3@

(4) 2 2D S

2t 50508" D3I O e0((SROF Do
Black Spot Monitoring and Management
App & SrdroboRod. &9 egido.

Soro P Do JE S B0 roTTe
:36575§89

(1)

DY So8aK0 ﬁ@%ocsgébé H0220800

@
a0 (oo SO

6 PO Hoged® s STeo &)
romrer H8odE0

(3)

(4) 200 o @roTre QoY)

5305, 2.8 8OEBLE30 T 15,240 £, oW
2053089050 T 3,660 983 B0, &3 SEOTD
950 erardd ey, DBt e3EH 6

; o ?

(1) ¥ 25,200
(2) ¥ 19,500
(3) T 24,500

@7 23,500
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42. The difference between the length and

43.

|
|
|

44.

the breadth of a rectangle is 6 m and
the berimeter of the rectangle is 84 m.
What is the area of the rectangle ?

(1) 416 m? ‘
(2) 432 m?
(3) 326 m?
(4) 524 m2

From a pack of 52 cards, one card
1s drawn at random. What is the

probability that the card drawn is a
King or Heart ?

11
13

1)

17
52

(2)

13

(3 =

4

4
()13

What value will come in place of question
mark (?) in following Series ?
3.6,4.8,7.2,?7,15.6, 21.6

(1) 10.8
(2) 8.6
(3) 9.4
» (4) 124

18

42,

43.

44.

WSWDS

2.8 8 Bsoso B, ) S8k ey
250 6 Q. B BBSERo BreRSos 84 . &3
VBOGRo DT°O50 o ?

(1) 416 3.%.

271432 3.5,

(@]

(3) 326 B.2o.

(4) 524 5.20.

52 s°hen Ko 3‘55 TR S“dge)ée Nl
T dy Soh So HE s RGNS &y
S0erS5% (probability) Jos 2

11
13

1)

17
52

(2)

13
3) —
(3 =5
13

3.6, 4.8, 7.2, ? , 15.6, 21.6. (%) OSN
508" 5 ewss Jo 2

1)]10.8

2) 8.6
(3) 9.4

(4) 12.4
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45.

46.

47,

19

J7396 + /12996 =2
(1) 180
@) 250
3) 310
(4) 200

Consider the following statements :

A. The conduct of all elections to the
Panchayats is vested in the State
Election Commission.

B. The State Election Commissioner
is a Constitutional Authority
appointed by the President.

Which of the above statements are true ?
(1) Aonly

(2) Aand B

(3) Bonly

(4) Neither A nor B

Between 2004 and 2014, India began
introducing a series of path breaking
pieces of social legislations tO expa.nd
the economic security and SO.Clal
opportunities for its citizens. Given
below are some of them. Arrange them

In a chronological order.

A. The Right to Education
B. The National Food Secu
C. Forest Rights Act

D. The Right to Information Act
() A,C,Band D

@ D,4 and B

®D,¢ AandB

@) 4, B,Dand C

Act
rity Act

45.

46.

417.

WSWDS

J7396 + 12996 =?
(1) 180
(2) 250
(3) 310

[@)

200

54 (08 Tyguo $0800W0G !

A, Somronde QT AGRToD 8RS0
PR 5O $057°08 &oenod.

/
O QY5O Pdosvo 0"&"’50{?.’3(5 oY, A
O°RR8 DODHATE.

KO BIFERY K0gosod.

@] A SeB0

(2) A So80%» B
(3) B S
(4) 2 DD 3y

/
2004 3008 2014 S5 DS’ Ay TSrLs
BeJoR0 ErJoBoTEd. A63 OO0 ey e
3000K0 TITRY @SSO D0
0S¢0 8BR0B. @oioS® §°7) Serodd
B (§o88 280 220Nod. eI SOES’

BB,

A. T T, B0

B. erdod es5 aeee 940
C. D) 5 980

D. J87T8 S8, 9830

(1) A, C, B Sodaxo D

(2) D, A, C So8ax» B

@)\ D, C, A 3080 B

(4) A, B, D S08axn C
(A)


user
Rectangle

user
Rectangle

user
Rectangle


48. The first woman to get her Doctorate

49.

50.

20

from an Indian University was
(1) Janaki Ammal

(2) Asima Chatterjee

(3) Tessy Thomas

(4) Yamuna Krishnan

The principle of gender equality is
enshrined in which of the following
parts of the Indian Constitution ?

A. Preamble
B. Fundamental Rights
C. Fundamental Duties

D. Directive Principles

(1) Band C

(2) Aand B

(3) A,Band C
(4) A,B,Cand D

Relief of the disabled is specified in
which of the following lists of the
Constitution ?

(1) Central List
(2) State List
(38) Concurrent List

(4) None of the above

WSWDS

48. 26k DEDoEa Bood GogBe) JFodk

Doocsed Soes

(2) | es3 5620

(3) &Ry gD
(4) QBT &3S

49. dorsarsso (Gender Equality) O°23°501b€3€

2 TS’ (SIS &0 2
RS
rEE T,

S8 s

o w »

303 oS
(1) B S08axn C
(2) A J300ax» B

(3) A, B3oBoxw C

(4) |A, B, C $o80%» D

50. BT So§to/ PO ooergoros’

22DES DEYTNGDS ?

(1) o =de

(2) o eder

(3) & Do
(4) 3D %

(A)
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51.

52.

53.

PART - B

What is Cargo Cult ?

(1) Rebellion Movement

) Revitalization Movement
(3) Violent Movement

(4) Non-violent Movement

Which among the following is the
method to estimate the poverty line in
India ?

(1) Investment method

(2) Capital method

(3) Human method

(4) Income method

ccupational structure
or less the same over
of the following

India’s o
remaining more
the years. Which one
is a reason for this ?

(1) Investment pattern has been
directed towards capital intensive

industries

(2) Productivity 1n agric
been high enough to ind
to stay with agriculture

y unaware of the

sition from

for economic

ulture has
uce people

(3) People are largel
significance of tran
agriculture to industry

development

(4) Ceilings on land holdings have
win lan

enabled more people 0 ©
and hence their preference to stay
with agriculture

21

WSWDS
>5- B

51. 5°8 & 903 dDoed ?

52.

53.

(1) Scoreren &gsoo
(2) DVELDS &S0
(3) 25"0:'3‘@&5, édsébo

(4) | o8 €550

ersEtod” TOESOPD 905 DONEIS B3

208 T3S D DEED TR0 ?
(1) eed DGS9

(2) BoTres DG

(3) 3755 B

(4) | esTod> 3D

rEBBE $) D0E0 VOIGTIN” T
5SS 0B, 800 36" 00 BIE S™Cew0 7

(1) 2exerd G0 [TO6d 30630y HBOE3OL
k) ;’Jo@q)oi’baaéo&

2) 255233"01306553 STNIED (e300 S0
5 eocserd? (H0bono KB 600

(8)| es8&or RISISAOEE S00G TOEFE

85RO 370 $08Te 600D (Besed
Doy T @SR B

(4) g BB G0 @S50S’ oS
Dy, 50008 8 oo DR0ED Jew
SOROD 0B BOENY TO PR
9gIT000 P S09)00 '

(A)
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54. The Planning Commission of India was

constituted in the year
(1) 1942
(2) 1947
(3) 1950
(4) 1955

r

4
{
|
{ E 55. Common indicators of sexual, physical
|

and emotional abuse include all of the
| following EXCEPT '

(1) Violence against younger children
(2) Sexualized behavior

’ . (3) Isolation

| (4) Stuttering

| 56. Which of the following is not a social
process ? ‘

(1) Accommodation

(2) Acculturation

(3) Annihilation

(4) Assimilation -

57. A 1s'a larger group to which
any individual belongs.

(1) State
(2) Society
‘(3) Crowd
(4) Category

MR i bt

22

54,

55.

56.

57.

B |
WSWDg
A58 BTV KO0 Q HORHE0S" IBHAH o
(1) 1942

(2) 1947

(3)| 1950

(4 1955

BORE, T8 BB arS AT o8I
RBoE), T IrVES® B4 ($0d
TP 0He0 &GO,

(1) ) 2eop oD
(2) Pons B
(3) 2.0ex8s50

(4)

SY JomeTreieso i/

$00 Te3S° DB JmIory BIEAK s 9
(1) 52 |

(2) SRrgs

(3) | 7850

(4) =Doxsey

/

GO ITPT® 2. 35538 DodS 28
¢ Do,

(1) o°go

(2)| dSreso

(3) Bsorsro
(4) 3%o
A
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58, The first discovery of human-like foot

prints embedded in fossilized ash was
made from

(1) Fayum Deposits, Egypt
(2) Makapansangat, South Africa
3 Laetoli, Tanzania

(4) La Chapelle - aux - Saints, France

59 Herbergs (1955) study of religion in

60,

America suggested that -

1) ethm_cvmmorltles practiced religion
to achieve social acceptance in the

culture

(2) mainstream faiths were becoming
increasingly identified with

national identity

(3) the moral teachings of the main
religions were becommg relatively

similar

(4) all of the above

The spatial feature of urbanisation in

India has been

(1) localised in nature
(2) balanced

(3) both (1) and (2)

(4) none of the above

23
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58. 3ores aFCS’ PoBoSBD DTS 0 AEER

CGhoos); 8320 38, E Booliniaiataal
(1) 306rS e, 5283

(2) SoES8y0NeS, SEETES®

(3)|8e5°9, eroerdaly

(4) & Tb‘a:;—efé:)—’rowoe%, "D

59, ePobsS” Soo H0D R (1955) D
@45503(3:\’)0 B3 Do DrDo008.

(1) 50w )88 FusreEs et 60508
2 DoBeden SoT BT

(2) ST I 2K HGODE LI
000BCBITHOWD

(3) BT Somre AE S ESe0 TnFon”

DITHOMT T EBOTHOD

(15

© 60. roEtod S4e3E0E Clo%), B8 oFFo

(1) [588° TsBoBA00

(2) oo
(87 (1) S08a% (2) Sosr

(4) DD o
A)
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61. The salient features of Indian Economy | 61. 2SN 0K 5595 G008, B0y OF]
includes which of the following ? 808 36" esmono

(1) Low per capita income and (1)
unemployment

(2) Sufﬁcient capital

BENR BB €500 [odaX
:xso(s“srfo

(2) BAS0s Soredsso
(3) e 35SHe S (ol
(4) 23 520

(3) Lack of natural resources
(4) None of the above

62. What is the ‘Slack Season’ in Indian 62. 275800 893'55?5?356 ‘3‘:5 55255 €063 5 oo
Economy ?
(1) 38y — HBS
(1) March — April
(2) Sept. — Dec. (2) P06 — &0z
(3) Jan. — June (3)

(4) Feb. — April

2IDO — 23§

(4) D50 - DOS

63. Kwashiorkor is due to 63. s, T8 38 TG0

(1) DS D &0
2) DS D o
(3) SBYS &so

(4) Protein — energy deficiency (4| &@35-48 &0

(1) Vitamin A deficiency
(2) Vitamin C deficiency

(3) Cholesterol deficiency

64. A survey should avoid asking 64. 2.8 05 OERDHOE Gored).

§ (1) fixed-choice questions (1) ¥6-dodg oo
(2) short questions (2) DB ©Fen

() leading questions (3) B0 ©BHen

(4) funneled questions (4) [$9S SHoo

(A)
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g5. Oross Domestic Product (GDP) defined

66.

67.

68,

as 4 value of all

(1) Goods produced in an economy in
a year

@) Goods and services in an economy
in a year

(3) Final goods produced in an economy
in a year .

(4) Final goods and services produced
in an economy 1n a year

Which of the following is the nodal
Ministry to identify BPL families in
urban areas ?

(1) Ministry of Economic Affairs

(2) Ministry of Social Welfare

(3) Ministry of Housing and Poverty
Alleviation

(4) Ministry of Urban Development

National Horticulture Mission was
launched in which of the following Five
Year Plans ?

(1) Ninth Five Year Plan

(2) Tenth Five Year Plan

(3) Eleventh Five Year Plan

(4) None of these

tutions 1n

Panchayati Raj Insti

India have brought abou

following

(1) Eradication of un

(2) Land ownership to depressed classes

(3) A formal representatio” of weake”
sections in village govemance

(4) Spread of education

touchability

25

67.

65.

WSWDS

xro BT (GDP) &+ ob 33 oS

DgDoWEOR.

(1) Stypes e vosdtod” Qs Hg9R6"
a3

(2) e BosEoS 0¥ ;55:;".366 S
2000%0 WPV

(3) 2.8 Ho58008" el 55598° &8)8

B Bod S

(4)] .8 BosB oS RS 3559S° &8)d

5 HmG o8 SHyPHes 300030 wHeo

66.

He9€9 Sroz:o (BPL) EE008TOD0
1080003 SeiS o By TR Lo TS 20 ?

(1) 88 SgHITO o038 TP
(2) oo HogRo Bood@Bs TP

(3) iy Aoy, DO AT $00 Q85 TP

(4) | S&eTDNY SooHss TP

35585 59086 1S &3 300 POF SerPEed”
Drodoedod.

(1) S BoB8Y Berds

2)

Nl pelotninie) RETVE

(3) BT oSS HETds
(4) De38° 26 520

eSSBS’ BoTOHS T HORLD s 80D
Te38° 2.5y DROLITHOX.

(1) e90e20°ABB0 Do), DETYOD
(2) T ST o> OIresdI0g0

@3)| 50 T3S polrs S sty

@A
(4) D5 D0, TG
A4)
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69. Which among the following meaning is

closest to the term ‘over urbanisation’ ?

(1) Urbanisation at the cost of village
development

(2) Urbanisation without the essential
infrastructure

(3) Rapid urbanization

(4) Emergence of megalopolis

70. Biological anthropologists who study
human growth are known as

(1) Ethologists
(2) Nosologists
(3) Philologists
(4) Auxologists

71. Patausyndromeisduetotheabnormality
of the following chromosome

(1) Thirteen

(2) Eighteen

(3) Twenty — two
(4) Sixteen

72. Which of the following is a method to
measure relative poverty ?

(1) Gini coefficient
(2) Lorenz curve

(3) Both (1) and (2)

26

(4) Poverty line

69.

70.

71.

72.

WSWDS

308 38" D6 256 woRESS €B S8
SR &oeaod 2

1) @50 6?,);‘5@ 3‘163353 ;"/égt:égdea

- s B2
(2) |es505620:5 53708 Do alFos e

e

SURESS

(3) DitsosRss Saedsses

@

(4) 2o 0D es556

DTS BEIE0R0 esgsoibso Do &5 S05s
THGOS 906370,

(1) 385230 (Ethologists)
2) SR (Nosologists)
(3) p&°s* 2320 (Philologists)

(4) es95"2Ros (Auxologists)

“BeT DOESY” B2 €od E3>5°55 Boosy,

TGOS S Seac 33000
(1) BessoreEs

(2) SRS
(3) 36D —Boess
(4) BEFES

Fog 26057 oS s God 38" DO
268 7

(1) A rH0%0
(2) &0 565

(3) | (1) S3900%» (2) o>

(4) 083
(A)

B
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73. World Summit on Social Development

74.

75.

16,

was held in the year
(1) 1994
(2) 1995
(3) 1996
(4) 1963

is the father of sociology.
(1) Comte ’
(2) Durkheim
(8) Spencer

(4) Cooley

Which of the following cities can be
called megalopolis ?

(1) Kochi

(2) Chennai

(8) Mumbai

(4) Ahmadabad

Rajiv Rinn Yojana (RRY) addresses

housing need of

k and lower

(1) Economically we2
eas

income groups in urban ar
(2): Urban BPL population

(3) Urban slum dwellers and homeless

(4) All of the above

73.

74.

75.

76.

WSWDS

D B0t Eed” FRHIEE ePHY P BBoD Bepor(f

BE o e20R0d ?
(1) 1994

(2)| 1995

(3) 1996
(4) 1963

JITEE TR 2 EPR0TRICE.

@[e%

(¢)) dogia
(3) %0
(4) &8

208 638 DB DTS I OD @ DT ?
(1) 579

2) 3

(3)| Sowod .

(4) epi’.:“&waré

odS 85 Brzs (RRY) Mys e300

$6:5,0:208.

(1) 2&e3 @"’oa‘eﬁ‘f sQgom awf.r&’):")aai
BoB00 B LTA BPoTie

(2) &0 BPL exeer

(3) &6 So008arEen SodaXn doTEaTven

(4) :‘355&

(A)
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77.

78.

79.

80.

“Twenty Point Programme” was
launched in the year

(1) 1969
(2) 1975
(3) 1977
(4) 1980

“Papers on Social Work — An Indian
Perspective” was written by

(1) G.R. Banerjee

(2) G.R. Madan

(3) Sachdev

(4) Marula Siddaiah

Unemploymentin a developing country
generally takes place due to

(1) Natural disasters

(2) Lack of effective demand

(3) Lack of complementary factors of
production

(4) Switch over from one job to
another

Which of the following Organisation
acts as the links between biodiversity,
conservation and local people’s
livelihoods ?

(1) Consultative Group for International
Agriculture Research (CGIAR)

(2) Convention on International Trade
in Endangered Species of Wild
Fauna and Flora (CITES)

(3) Convention on the Conservation of
Migratory Species of Wild Animalg
(CMS)

(4) International Institute for

Environment and Development
(IIED)

28
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71. 20 Frowoe Sy D $ostnsod”
rGodoterdiod 9

(1) 1969

(2)[1975

3) 1977

(4) 1980

78. “036) &S5 ¥F9S 36, - WS s
OIS IS TFD 2

(1)| 2. esb. B8

(2) 2. e36. 3555

(3) 2585

(4) Sorehe bgang

79. &d3 Doty Beos” S Ferseorn
B sEEonT 2HHB08.

(1) 58 psdores
(2) [S508508208 dsrol 8850

(3) &8)d Booxy, BOYEEERLH TEses
BP0

4) =% éﬁ%r\’o So0d So8°y e685m2)§
S0

80. B2 god =38 0B woy E5RG0, HOGE

Bo0ak0 FRY B B5TIrag Sogss dooer
HADR08 2

(1) | S9SB35 05 56 50063558 ©psed
68y (CGIAR)
(2) @oééoasﬁeéﬁoé& ¢ BoBVLT0 SoB0T0

DT woBTdad el p Do
(CITES)

(3) 0D erdov ©E mosode J065e
2577380 (CMS)

(4) ao@é&é{éﬁg QS’@geJJ*geS 6 AT SD0eS
©o& BY0DA0es (IIED)
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82.

83. The orderly arrange

L:-——"———

g1. The Food for Work Programme was

Jater renamed as
1) Jawahar Rozgar Yojana (JRY)

(2) National Rural Employment
Programme (NREP)

(3) Integrated Rural Development
Programme (IRDP)

(4) Rural Landless Employment
Guarantee Programme (RLEGP)

Which of the following needs did

McMillan identify in outlining the role

of community organization in social

work ?

(1) Theneedto create publicawaren
of available community resources

gthen intergroup

ess

(2) The need to stren
co-operation
(3) The need to assist 1

referral practices

(4) All of the above

n effective

ment of urban

streets and public space®
(1) Urban Planning
(2) Urban Design

(8) City Planning

29

(4) Zoning

81.

WSWDS

538 36 36, o D6 3T SorEyRcod.

(1) w55 oeesred Bred (JRY)

Q)/es@oi: [0ed &R S8R0
(NREP)

(3) q0e3 R & TRRLARAA ECHERES
(IRDP)

(4) e XS &8 559 SeEgEH0
(RLEGP)

g9, Fsray 598" vITE DY Boog), B

N5B05E0S” DENOS B 20d eBITO

O80T

(1) eotsoerend® & Sre 9602 ©d
oo KO OTRYS D00

(2) 5otdb (T SersTrdy 208 B0 DanHeND

(D Nlelel
(3) WBogHoBID 00 o8l wfako
Banden edddo

4) ';.22,5:5\)&

83.

26389 0500 S 5805 ol BT
@mwg@_:) 93008,

(1) @62)5 3{:3)05

(2) ey EBS

2565 R0k

3)

4) £ 2oh
' @A)
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84. The concept of Economic Planning in
India i derived Mrom

(1) USA
) UK

(3) Australia

B4, rood¥od’ s (308 wib g
aepOodod.
(1) ad0.I0.2. (USA)
(2) 3. (UK)
(3) & daxr
(4) Russia @) 0'.3\“8

83. Which of these changes did not occur | 85. US & 5+ Sraipen 1960 & “ohs Q50"

during the ‘sexual revolution’ of the RSo00d” S ?
1960s in the ) 4
508 in th'o UsS HIV 308050 AIDS D 2&0r8u, efoko
(1) a growing fear of HIV and AIDS, £ T Gesgo 00O
fuelled by the New Right
(2) divorce law reforms R =50 5 Ko Gesen

(3) the availability of oral contraception (8) 3 AORVIaTS oS
(4) the recognition of women’s sexual

p]cn sure (4) SoTPT Qof\g &3505‘:)& KJ_@DOCﬁCﬁO

86. A 20" century problem enlanating 86. SKX&o -.‘.’)oe.)gi.’agbe @"’O@"’Q) 3(’(50@3&55

from rapid urbanization of areas éegeégde:;o J00d JeSt 20 3 Forgy D20
surrounding a city which eats up 38 ADS [TAoe GO (SBT 0RO
the remaining adjacent rural open o008,
spaces. D] o5 &5
'l
(1) Urban Spraw . B) i @So& .
(2) Sustainable Land Use Planning ﬁ; 5 QX o
3 3
(3) Greenbelt 3 ¢ s: s
(4) Advocacy Planning (4) eEES 0

87. The Planning Commission of India is 87. 52 &0 T35 OB BT Berdse daio ?

(1) A constitutional body (1) orergen oy .
(2) An independent and autonomous (2) 255_;’@5 S0 RgaLoES3S SOA:
o
body :
3)| Bere0805°0 Do
(3) A statutory body 3) ;5;%3;‘ S‘C:g
(4) A non-statutory body (4) o

&)



user
Rectangle

user
Rectangle

user
Rectangle

user
Rectangle


89.

90.

91,

" :\t,t,ompt.ing to harm
atural means, but
an thought alone,
('hr(m”.ounh the usé of tangible objects

(3) Tote™
&) Taboo

Women have been excluded from the

public sphere because
(1) industrial capitalism separated
the middle class home from the

aid employment

se who enter p
J into particular

(2) tho
‘sideline

have been

fields |
(3) itis difficult to succeedin ‘malestream’

politics without compromising

their femininity
(4) all of the above

White-collar crime is low in visibility

because

(1) it involve
money

(2) the proletariat can outsma
bourgeoisie

(3) the police tur
f:orporate crime

(4) it goes undetected i

s only small amounts of

rt the

n a blind eye to

n the context of

WSWnHy

P
88, [IKTNIG BT O%o" & .
ejdjﬁéé I\‘ ..)J (& v i',)‘{‘,‘f:',/-'«,, Y,
© DSO‘ ;)J"@_/g(:u "";’J N _,_. —'i:.:'/t‘/j:‘,,
- oJ ,.'jV‘J;" oty
é:) JL; 00D wivay G o o
DT ROBED T0" S5 (S0t trety s
‘:l"’.n '/',v"
oeT80. -

g9, S0 Te36" DO FBS 45 56), @RS’ 2o

5% ?

(1) D38y

2) 3520085
(3) 36
(4)] Sos0eT DR

Ko 500G Zbaﬁ:ﬁoi:oa”cia

S 2o 00N 60

DotsoEotd '

(1) FOE°S 2P
5030 S°O°§e>o:0

@) 2009 &TBS 55905 7O BB
SomeS® 58,3 200

90.

G0 D0 3055563
o 5000 DS DD

[{1%4¢

(3) 6 ST TESED0E"
cragoﬁ"e?f Nesar0 OO0 S0

d)(;i@sgb;/joon

] SR D) do C5

2 (@]
(( )) 3 °:)JS;55A 8&5"(1)”33"35.3 @@ffiboér‘f@da
ég)OCZ" 63‘&)

4) 38
30 S s ordde Botsos®

everyday business transactions

MOQotereseso

(A
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92. The concept of ‘culture shock

ed by
(1) The mental distress cauilture
adjustment in a different C

. ving
(2) Male anthropologists h?male

. . . A e
problems with interviewing
informants

b
(3) The mental distress caused DY
hazardous field-work

. 'S
(4) Involves himselfin solving people
problems

93. Engagementoflocal peoplein development

project refers to

(1) Economic Development

(2) Social Development

(3) Participatory Development
(4) Sustainable Development

94. Social workers practice under all of the

following auspices EXCEPT
(1) Public

(2) Not-for-profit
(3) For-profit
(4) Media

95. The smallest group possible.

(1) Peer group
(2) Family
(3) Dyad

(4) Primary group

92. ‘500 IE &5 oy
(1)

(2) S0 33

PRENNS
D oY o6t K5 70 sy,

NS 3
e T

() S5EE5 28-55), 150 684 g

4) Peo OBIVgB0 %6
oo zbwj\“;@cgo

o ey

93. Eﬁgﬁ ;;Z’Q%e’iﬁ L (Gesey T8y
(1) SRS

(2) Fsres e

(3)

4) m?gd &9@:)0)&0

TS R

9. TRTEE S &1 8ols S dotses o’
B Lpoer IE oy,

(1) S8

(2) orerESR Sowo

(37| oo §%0 Db Woen

(4) Aae

05. S0 T3 FrsRyon DY HTT -
(1) 56 ¢
(2) Sxwow0
3)

G

@)

(4) @resdos §BTTO
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96. 01’({(}1' ”10 a
l.(‘],‘gions in India:
1) gijkhism _, Islam — Buddhism —
Christ,inmty
[slam Gikhism — Chiristianity

- Buddhism
¢ Buddiien ™ o
- Slkhlsm

the sequence in ascendin
dvent of the followin;{g’y

2)

ristianity = Islam

m— Buddhism

97.

a3

Poverty in less developed countries 18

large because of

(1) Lack of intelligence 0
@) Lack of cultural activities
(3) Income inequality

(4) Voluntary idleness

98.
f the beople

Whi
ot po‘f‘lplan gave emphasis on removal
rty for the first time ?

(1) Fourth
i ) Sixth
4 SeVenth

%,

————————

98. &S A3

99. Douse3ronT 5,:58%0 &oho

WSWHH

06. orovdiod’ Ha §od BT T st

E5008° ©B0OG.
(1) O $580 — JUT0 — TG0 - s
[y @ i('i'.-o‘)
S0860
2) ai?_jo — &), “o%0 = Eé’g‘() BoB0— G
Sodo
(3)| &8 So80 — égb <5550 = B0 2%,
Sogho
4) éc_@;ﬁ <80 = AL 7 d“g;’)sé’ao -
?ogoz,:)oé’so
917. RO SEY 258050 0 T E S SeTRd
bl &) $0205°% “waoiﬁwﬁ)é Ba Do
é&’)&?ﬂo{ﬁwcﬁoé&ow s
(1) < 5800 TR0
2) 550 XJO°5Z>6£'9 7RO
G?gé‘wep

(3) s FTH0R D
(4) D38 06 5%

B DoBd Ageod’ V3050 DSV

o506
NeHeIS0 SEPSE0

gerre § &ed

£99:500. 0
(1) Bz 29
(3) es0o® 9:55TRD
(4)| 85908 5BD0

5% DeTdS

Qg0 3008 ?
(1) TS
(2)| 263
(3) e85
(4) Des

A)
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100. Which of the followin
age of seasona

gistrue regardin_g

percent ] and chroniC

hunger n India ?

(1) 1t has increased

(2) 1t has decreased

(3) Itis remained same

(4) It has marginally changed

101. An ecclesia 1s .
(1) areligious organizatioq that claims
total spiritual authority over its

members

(2) achurch organized around voluntary
rather than compulsory membership

(3) a sect or cult with a very small
following

(4) a hierarchy of priests or other
spiritual leaders

102. The term ‘feminist standpoint’
suggests

(1) taking a stand on the issues
neglected by feminism

(2) studyingsociety from the perspective
of women '

(3) the recognition of difference and
diversity in women’s lives

(4) a tendency to ignore the gendered
nature of knowledge

103. Which among the following is not a
cause of growth of cities ?

(1) Trade and commerce

(2) Industrialism

(3) Development of transport
(4) Hygienic outlook of people

¥

34
’ WSWDs

100. gro8dios sTersonm $80% SES By e
T $0200009 208 T3S’ D Jeso 9

(1) es5® 2ORCH

@) |es5® 800

(3) es5® T°0 T &0

(4) s8OS’ Beey DIEYL ETHO0

101, J3oxr el

(1) | B0 He00R I BTG 0HST)

55e30D 2.8 DoBBERD D0

(2) B0 deisso Kotd V5o 050D
(QO‘DG,D DanHdS K0y

(3) Tror S VoS KGN o8 i
o 5

(4) Srertoos Bo° 380 GBS TS0
AIPHES00

102. 2 Gob T3S D 80 Y GHE’ &

DT SR8

(1) Horcso DYgo DS Vg & Pad
SoShaco

(2) [Brerdy Solrveo S0 $008 eeadso

Dodeso

(3) Soarso P2 R ;55@530 $00aY20
1323(5"53& oo

(4) ardo ooy Dol HeEra ) D003
5563

103. &2 (200 T3S’ IO [NTPe DENOHERL S0
55035/
(1) S50 Sodakd Tedesso
(2) FBEies

(3) oTer DI

(4) Deo SOHERN SYHEo

(A)



user
Rectangle

user
Rectangle

user
Rectangle

user
Rectangle


r—

e
pir -85
Eg ol WSWDS
te poverty m 9
What does a>SO™ ean? | 104. SoITg 205 '
104' (1) P overty in terms of the preVailing DOYTQ 0 9063 ,,D::)‘oej 9
price Jevel (1) 98 &8 Arosonson” 5505080
) Pove;tif ()i?pteczx;?es of the absolute 2) %098 bssgerodoﬁ 5,505
nui e
poverty in terms of the absolute (3) DBo85¥o By KoBg AONTONT
E) 19?161 of unemployment 5565650
in terms of the basic (4) | &res i Bobe e3P0 GFES
(4) P ?Z?:;fgm calorie requlrements 5,¢5650
mi
the nam of Charles Darwin's | 105. T8 05 @308 por-BosrD DYEe 2
5, What W2 | 9203 7
! epoch making book ? be <58 D055
(1) Natur | Select1o® b $ ii 25
gurvival the Fittes (2) SO0 & @533
¥) gl o Species (3)|& L OBS €D PV
(3) The Or'&! , (4) Sy &9 I3
4) Essays o1 P pulatlon
. 4 v k ( 2
106 What 18 the main obJectlve of the 106. 12 S FYP 03305’2). @JC)"Eﬁ ngso o);')oeS :
190 FYP ? (1) 5 5 0EaRR $000500 5500 )3
SR 93

(1) Faster @
(2) Faster and sustaina

3) Inclusive and sustaina
(4) Faster, sustainable and

ble growth
ble growth
more

inclusive growth

107, Whi
hich of the following methods | 107.

of A

. \rchaeology does not belong to
atistical method ?

\ "

() COrrelation

@) Multivariate

(3) d3of So80 R
4 S RO 555
38

B S9008 BB

HOSDY TR0 B, S0 635" D8 Kewos
Zbge?é 30O58 %60 ?
(1) S5eb0200650

(2) so830ciey

()| TR

(4) S5re3s D550

A)
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S WSWDS
« Century Social Movements [ 108. Jsorors ©300 GTET FCELLS Bises
wWNIC “\p
8 30p30 50BN DPORY, YOE DHEERL Ftrrissg
Ko 21 5 AT TITEE GbSres

108. The 21"
become increasingly _

will
ation and transportation

as inform
technique promotes rapid community 08 DEMOBITNO,
and cultural diffusion.
(1) HEKS
(1) Progress
(2) 55" Qéﬁg

(2) Corporatist
(3) 25"03" é&g

(3) Violent
(4) |Fed

(4) Global

out the | 109. 30838 6 58, F088Ts § (0800 a0 ;

109. All of the following are TRUE ab
803 3o SO0

social work interview EXCEPT

(1) Itis purposeful (1) 38 éé?ég@y@éé’éoo_:é&
ned time (2) B3 Hx0syT AFOROSE S0, AT

~(2) Ithasa formally determi
K@)@O S080%0 o0 E0LT0N

meeting place and duration

(3) The worker’s actions are planned, (3) s B30%, EQBI S, PETIE B0

deliberate and consciously selected 55801 eS0T 065 555 435005
to further the interview Jo2E DO

(4) Itis similartoapersonalconversation (4) 30 2.8 ‘;"‘o&b"éo@éﬁ 28 DENS Koernesd’
) &ot00d

with a friend

eTSTFOS” $0 LD oSN e950ETOOM

110. Which of the following sites yielded | 110.
et (OGO e 2 7

earliest evidence of rice cultivation in

India ?
(1) so5¢ess (Mahadaha)

(1) Mahadaha
(2) Chirand (2) 9ok (Chirand)

(3) Koldihwa (3) 5855 (Koldihwa)

(4) Barudih (4)] 2565 (Barudih)

(A)
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y11. Post-modernist writers ave argued .
that 111. R-AraEody ; Wsw
[X] SBctien by
(1) we liVe in a World Of Superficial, (1) st QU"B”QQB__Q.
fl‘agmented images é:):l%ﬁ‘;)o O, DRI Doy .
(2) no theory is petter tha any other: (2) 5 bpostar duter v
anything goes’ ‘Do SVE08’ TIETY S0DB s,
(3) society has changed and we need 3)| w0 srodfon
new kinds of theorY S50 HEpoBo %;’?Om@ain 555% S
(4) all of the aboV® (4) 5%
12 Operation B]ackboard aims ab 112. es:58:55 o5 575 0%y, 5 5°
. g roﬁdlng education t rban slum (1) e 30030 D550 oBoiso
wellers
2 5503.7’23& =4 9
(2) Promoting adult liteTd i @ \ esforRgE FEprotto
3) Opening f ne schools specially 3) zbdﬁa)g@ %0 ©HBgEOM £5 FETOO
for female children @rooRonto
(4 Providing primary education in an (4) |dogHsen” D505 Srowod” NS
ducation y backward ared DGO 90800
113, A rolling plan refer to 2 plan which 113. & Doh o A9 570800 ?
(1) does not chang® its target every (1) o&5° ©9 %058,80 R eln®
year (2) o Sy Fo00)P0 B SosEto
(2) changes its allocation every year 3 23 6?0”
) oD G000 <5805 OF §° 0
3 t 5
(3) changes :ts allocat1ons and targe 85150 5T o
every year
' (4) o 05§ St B B05800
(4) changes only 1t target every year < ot800
suitable for P L owing materials 18 114. 3"&7"0.\0130—&9@"5 &e3on%d 2oH " Iy
s otassium — Argon dating ? 950 E3°O0N” o008 ?
ves
£
(2) Parchment (l) ;565(\)
(%) Tree ring (2) R0
(4) Biotite (3) ¢S 8oh
4) aaol)"@_ef
A
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115. ‘Operationalization of Variables’ in | 115, e ;,55b 5305‘35" ‘35(150&)0&% D08,
social work research means 505D END’ ©0

(1) Making the variables simple (1)
enough to understand

(2) Making the variables measurable

BBy ego DS MOR0H S
Elovelate
(2) Socnendys SoSORM dabeo

(3) Ar;anging the variables in a logical (3) SBoHRyS TS §5008° exotsytso
order

(4) Making the variables fit for 4) 2503’0230@5:0 HOF°EH L VBFToer
research S

( o«
116. Which one of the following is not 2 116. 206 T3 D8 388 FOE 5260 2

correct matching ?

(1) Arya Samaj — Swami (1) ests S0e8 — 5 Skl
Dayanand DG
Saraswati

(2) Bhrahma Samaj — RajaRam (2) @y 057 — 0P TPe it TPod

Mohan Roy
(3) Prarthana Samaj — Ramabai 3) |&gs S5 — SSreran S
Ranade
(4) Satyashodhak - Jyothiba (4) :3595.55455 Rssoeef —2'3'%@2:" D8
Samaj Phule

BEGDH $E"AELH Sed
ros0d” &) 5500 HoPgtd BB,

117. refers to number of peoplein | 117.
an urban area per sq. km.

(1) Citification (1) 235838

(2) Urban population (2) $&es esarer
(3) Urban density (3) | &s8)® Jroese
(4) Urbanism 4) SeETeS0

118. Which of the following contributes most | 118. srosdssre erdairsd (282)8° Lo 635"
in Gross Domestic Product (GDP) of 58 Qg)b:)@é%o 5o 3Kno_é .

India ?
(1) Agricultural and allied activitieg @) 5553“&1) RS SRbaeE S°C5§s’e1°3°w
(2) Manufacturing industry (2) B0 BBES
(3) Services BIES
FNIOV)

(A)
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wral reality is th

) Them®

) Constl'uct

e of resemblance petween

tic twins 15

121, develops nationalism and
Jove of country: '

(1) We-feeling

2) Ethnocentrism
(3) Cultural relativism

(4) Social control

19 wia
2. Which one of the following years has
dline for the Millennium

been set as a dea
Development Goals (MDGs) by the UN?

(1) 2050
(2) 2021
() 2014

WSWDS

39
g:z;g%i TRIEG B0, (TG Ghres
(1) soxb

(2) |o&E°

(3) &

(4) QTyER0

e [ 119.

120. A rTEReIE 5500 265 FOY 0Ky @

)| 1

@ 0
(3) 0.5
4) 0.75

peOE B3o0050 B (200,

121. __———
@5);’)&@ 52();300@.

5 350050 9506 0°8

)
(2) & poedeo
(3) Broy, YIS FHETEO

(4) 5798 DoOBE?

30085 A

.
‘ 5 ?S o™
& KC‘(Q@“ .

(MDG) & &0
oD D08 {
DGooos ? ' ,\)U"E?f >

(1) 2050
(2) 2021
(3) 2014

4) 2015

(4)|2015

A)
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. t.\“’ .
E‘}}g WSwpg
b ia 18 . .
93 Colonial arban economy of India 123. org5840 Do), S - B
= ~haracterised by . : T80 SQoiivisy), L\
'1) destruction of traditional handicrafts (1) SroEmrod 08 g
( th of the bourgeoisies (2) ey 58 [

(2) grow
)] development
(4) all of the above

of modern industries (3) e3¢30D% SO @50
4) :.35&)&

s the objective of welfare state ? [ 124, $0g0 Cra350 GBY), OF 50 DAes 9

124. Whati e ol
(1) To provide health factlities to (1) Fesoeocsdd et Fsoren Wyoscio
citizens 5 3 ,
(2) Manage welfare programme for (2) 2087 S0 SCFD SEEIY AsErocso
weaker section _ (3) |30 KBy $585908 N8R PATaTY
(3) It ensures maximum benefit to Dp8rz00
i eople
maximih PO (4) De36° 6 5

(4) None of these

125. One of the ethical problems with covert | 125. [SROEN)S 508058 036505"3;13 Q8¢ ?\’);30}65@65

participant observation is 2.5¢3

(1) notbeingabletowritecomprehensive (1) 500 ég 56950 Soe @gué HOETREIONR
fieldnotes or record conversations EanBEPScso

(2) 1(ri:acelvntig the respondents as to the @) 55 a0 B8, S0 BOAKE

son for your presence S0 Ao Satbo

(3) observing people outside of their 3
natural setting (3) T°0 Vire @S5008 IDO (DEOIY

4) subjfzcting the participants to fsiegice
Physical harm (4) FEITOE FHOE D Soveso

126. Whi ing Fi '
ich of the following Five Yeqy Plans | 126. 455 $08 08¢ Herdsod” 33755 @)Y

recognized human develo

Pment ag th AR 3 BowT.
core of the development effortg y | " | © 08 ECOPRS BERSAM 000
(1) The first Five Year play, (1) Boc5ed 5055 (Be9s
2 ] 0
(2) The eighth Five Yeqy Plan (2)] DS 505 Bead

(3) The ninth Five Year Plap

(4) The fifth Five Year Play (38) &S SO ey

(4) 26D 5085 ey

(A)
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r—

he pest way of determining paternity

127 18 t e
: rlt:]ng Of Ch]_’Omosome number
inting

owin
arantee gcheme first ?

hodorow (1978) ar
i ocializatio urred throug
(1 both b d girls peing closely
ttache their mothers; ut then
boys preaking away
@) girls being attached to their
mothers but then preaking away
(3) boys being attached to their fathers
and girls to their mothers

(4) both boys and girls being closely
attached to their fathers, but girls

breaking away

130, T
Dli‘:e?tovt. has recently allowed Foreign
automa?we“mept (FDI) upto 100%
fOrﬂoric::]: route in agriculture sector
te. in Whiiireklzﬁr ticulture production

of the followi 0

1) Desert arens owing areas ’

X &”estern Ghats

@ N ator logging arens

One of thege

—_
n
~

11

WSWDS

1217. 2B ﬂ)goooo'é &0 BTG
(2) 38 s sy, DNA

(3) 6§ BTt 565
(4) 08D 230e

128. 30038 TR 2350583 & TR DESAY

(SaEe308 7
(€2 85355@55
(2) Z05°0°%
(3) BTTE
(4) gq;eag

S&6° (1978) 82 oeso® doft Soo20d g8
23OROER e EOTE0.
1) RS Lo < 5B0¥00 wO8

é@goés DT BOTT &0l
sern o DGO

(2) erd50 B30 ée:onenés e
HETD AP0
270 B0 Ho|EO <5 BOKH0 NI
éeage)és 23 HDOXRICEE0
4) 70080 550050 %0 FECT 0
Bocoes dYPTEOT esssBORG0R, S
@BITOND HSKTS NGB0

129.
0 acgdf &N

So, D BT

B O0eE0, S

3)

180. &4 @08 TeIE° D Sromrd Be085° $3g5R0%0
Sood® (e 2oR50, oS &B53 DSBS
fmsé) 100% eseSBoeds 67eSE’ 088 BBs8
2eRexcieid (29..50:) gedse ensossodoo8
(1) G0 @roT°ed

(2) BBySo EhoBoe

(3) Del erhoh @roTren

(4)| De3S® HA s>

(A)
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131. 1980 &% “§° Sod! ger 80950808,

RoBBS, N $5o80K erSByn
%0

131, X
1. The New man’ of the 1980s was alleged
to be

(1) sensitive, caring and emotional
(2) laddish, aggressive and violent

(3) a strong and dependable
breadwinner

(2) orAS, BT S5o80K POV BEo
(3) 2zRWD Bo0AK0 BB BE N6

(4) 2irsof B 0N So8a%0 Tl Kodod

(4) openly bisexual and proud of it faloiyelots s

132. gro8d50d® Dooéondsed SwADSS SEYOIS
D& poEod ?

132. Where was the first Municipal
Corporation set up in India ?

(1) Bombay (1) Soeran
(2) Calcutta (2) Sose
(3) Madras m@{)
(4) Surat “

133. Which of the following tax is collected | 133. 208 Fe35° 9 552 (T35 SoTasd S '

by Gram Panchayat ? D08 2

(1) Sales Tax (1) OS08S) B9
(2) Custom duty (2) 555 carg!
(3) Excise duty (3) 3y 000
(4) Fair tax (4) RO B8y

134. World AIDS Day is celebrated on which
date ?

(1) 1= October

134. 36g d0006) 8% 0 883 estsogys0erts 2
(1) e5eb 15388

(2) 1% December (2)|Gnoeb 1 588

(3) 1 November
(4) 1 January

(3) 380281 35da

(4) 25581588

A)
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Litigation rofers to

y 1O pmvi(lu justice out

chamén

de gpccdy justice

justice to poor, needy
tions of society with
d media

vide
ker secC
fthe NGOs an

one of the above

@ N

onsidered the
thod

(1)
(@) Census
(3) Survey
4) Questionnaire

greeof’ relationships,

Inorder tofind the de
tistical test calle
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(4) Pearson’s correlation

138, Tng;
. Indian’
1an's wage policy is based on

(1) SaVings

(2) Prod .
uctivi
®) d

(4

Cost of living

~—

9

S
tandarq of }vine

135. oy r.;)nllf".‘,:..', =

136.

137.

WIS

= .

b bt

T aligesy :
6 s il A

(1) a“éojg.}zao 5308 T

ATN0

‘;' ay
(2) SSoBWS T5a%0 wolola A

(3 wtrmod’D 8 WA Lo
S50X00 soBoscd Lo St
<s8a%0 Ddalr Tyo” Fgele
00BoBG V3

4 RENERS)

"
P
PVl v

205 Toe36° O BI85 c—r‘:_’goé“ Ao hECH
Boo8), @O BooPGP 458050 (OO SO
é@ﬁc%o:ﬁaacfdéoo& ?

(1) &R0 $OBOD

(2) ?\):5‘35

(3) %0s

(4) ©FRE0

$502005°® ;3;;0»&’) ér\ﬁ:ﬁ"zécs"bé,,in;m &5
Kewo¥ SOE &3arAoTd

1) t-83

(2) oS

(3) 2-2,56 9

(4)] axegyS A0Sy $ES H0w0Eo

138, gresban 365 g0 B SrEe &5082000.

(1) D
(2) &omyesssd



user
Rectangle

user
Rectangle

user
Rectangle

user
Text Box
Answer : 4

user
Rectangle


b

139.

140.

141.

142.

. 'n
Which one of the following gtates aln
India has focussed more on hum

resource development ?
(1) Punjab

(2) Karnataka

(3) Kerala

(4) Tamil Nadu

ng is an

Which among the followi
trol ?

informal method of social con

(1) Customs
(2) Coercion
(3) Law

(4) Education

Which of the following Indus Valley
sites yielded the earliest signboard of
the world ?

(1) Ropar

(2) Kalibangan
(3) Dholavira
(4) Lothal

Sociology throws light on the
nature of man.

(1) Animal

(2) Social

() Psychological
(4) Motivational
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WSwng

aRb:

ﬁé 1
/ i a self-Contalned unit | 143. —______ edax

. Reaho0-2)

43— members ° are a sense of ¢ % Rttoeiten ity
yhere e ommon territorial JEE DB0R0 B0 D s o i
1elonaing and 8 © SBBE ST QR BBty o
4 - @ Qdomgjowm. “
base- (1) smes0

ciet
(1) go };n. . @) 5%
omin
@ Co (3) %29
(4) 5836° D8 20

(4)
44, The main objective of Antyodaya 144, @oT A0 srefEsio0 ok, BT ol
programin® (1)] esois> éggoono |
r
(1) Uplift the poo 2) B égbobdo
() Uplift the farmer ,
, (3) Dges SR &¢gBoidtio
(3) Uplift the urban poor
) Uplift the Jandless labour (4) g8 FDosowids GEOoNEo
145, Which of the following 18 not recognized 145. 800 o 36° D6 D5T°E ~poaor z{:goiﬁaac:écﬁo 9
2 a level of society ? D] o
(1) The household
(2) The office (2) 5°C° 500130
(3) The global village 3 & f\:ege‘j' 298
(4) The nati
e nation vstate ( 4) 8 3:)‘5 %3 o5
46, Who
are conside
t(}llf poor ? red as the poorest of | 146. 51508 o8 55301 IS oI ?
Scheduled
Caste =
(2) Scheduleq Trib ° (1) 2T 5§ EHe°0
® Disasterstruck p @ v N
4) Women_ ¢ ruck people = 5§ e
y I@ .
People male infants and old (3) IS8y Eeen
(4) Sotreien, ests BRI 4Bk SR

(A)
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147. Community organizer encourages: | 147, £355e3 eseReb E' 2
= : i . . t 3 S@' — O3t <
provides direction and guldel}nes 0 S"dsgvvii‘e:m EITNovena :;«.'.‘ %"a
proceed in carrying out the different &% 55000 BTEEET R %gj ‘fﬁ N
activities as an 00,
(1) |&@ysso
(1) Catalyst @ osdnd
(2) Advocator ) ok
(3) Animator (3) axrRoed
(4) Resource Mobilisor (4) 836y DoDJb

148. Municipal Corporations, Municipal | 148, 3500298 2638083, Soodns TS,

Councils and Nagar Panchayats are <3800 SHKE SoTroHhden S
three types of __ local HEOTEE’R Do Ssee. ®
Governments. (1) e
(1) Rural @5
(2) Urban VS ‘
(3) Both rural and urban (3) (rRoes DB Hees Bockr
(4) None of these : (4) He38° HS 8¢
149. What Rights are Human Rights ? 149, 5555 SEKoe0 Aoed 2

(1) Rights which are provided by

s W _ (1) &rE® Trepgio ©OBoD ¥y
Constitution of India :

(2) Rights which are Fundamental (2) (PEDEFsy0

(3) Rights provided to all human (3)| @5)d ;Ss‘:é;’g)e;odbé 0B’
beings by nature TEN©0

(4) Rights desired by human beings (4) 5750 SERH Ly

150. Which of the following is not considered | 150. 283" D& DesBEo o), FSTEs g
as a social indicator of poverty ? SOREIOWNRIEED 9
(1) Less no. of means of transport B Hopg Eae Irgo
(2) Illiteracy level 5 DB 00 "
(3) Lack of access to health care (3) e :’oocﬁg?rai) %o BEFNco
(4) Lack of job opportunities (4) &8N oSS T B8N0
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